Thu, Sept 4, 2014 MATH 462, Quiz 1 Prof. V. Panferov

Sodstions,

Name: (print)

Each problem is worth 2 points. Show all your work.

1. Let W; and W, be subspaces of a vector space V. Prove that W; U W, is a subspace if
and only if Wi C W, or W, C W
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2. Let V denote the set of ordered pairs of real numbers. If (a1, as) and (b, by) are elements
of V and c € R, define

(a1, a2) + (b1, b2) = (a1 + b1, azb2) - and  c(as,a2) = (cay,az).

Is V a vector space over R with these operations? Justify your answer.
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3. Show that the vectors (1,1,0), (1,0,1), (0,1,1) generate R®. éazufwmﬂs( ‘y 2ero.
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